a o A A A A A A oA A

123456789m

)



916

514 (35.9 )
916 233 25.4
683 27
560 700
1
( 4 ) % ¢
30 738 49 7.1 738
712 26 3.5 712
665 47 6.6 637
785 120 18.0 721
1,430 645 82.2 730
916 514 35.9 683
- 30
1,400 [ —c—
- 25
1,200
1,000 - 20
916
800 15 12 785
666 "% 668 644 655 64482 637 689 665 F 1
614 628 712
600 660 665 600 589
10613 #7590
9 9 560 .10
8 8 8
400 7
6 6 6 6
5 5
4 -5
200 3 3 3 3
2 2
0 -0

11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 1 2 3 4 5




1 2 7 8 167

254
R mR =R3 R4 R5
114 130 112 128 1oz
92\123 b2 0>
61 74 68 57 74 68 69 69
6] 2'42 545378 - 57 560 i 59 ]48 68 ﬁ 54 a1 , S6I8 67
7 6
i & wm & m-li A A A o
1 2 3 4 8 9 10 11 12
131 ( 19.2 ) 20 13.2
29 10 25.6
26 5 23.8 18
8 1 14.3
58 ( 8.5 ) 1 1.8
30 12 28.6
7 15 2 15.4
98 ( 14.3 ) 16 14.0
383 17 4.3
56.1 5
126 19 13.1
99 13 15.1 5
[ | [ | [ | | | [ | 3




194 (

28.4 )
145 ( 21.2 )
0 ( 13.2 ) 61 (8.9 )
84 77
43.3 ( ) 16 13
[m] ] | | | | |

683

730

721
712
] | | ]
5 194
4 31 29 224
3 51 | 221
i
163
233 467
220 (
28 11.3 ) 127
3 2.3 )
104 ( 8 8.3 )




50

50

m20
=20
=30
=40
o50
m60

=20
=20
=30
=40
o50
m60

=20
=20
=30
|40
o50
m60

m20
m20
m 30
|40
o50
m60

206

19

58.4

37

65

141

=20
=20
=30
m40
o50
m60

m20
=20
=30
m 40
o50
m60

=20
=20
=30
|40
o50
m60

m20
m20
=30
m40
o50
m60

30.

100%

2
81

145
194
27
61
37
27
90
102

26

35

6.5



10

17

21

30

42

59.0

1

[E=Y

49

40



10 29 ( 22.1 )
26 19.8 18 ( 13.7 )
29
22.1 ) 25 ( 19.1
17 13.0

11

31

31.6

22 22.4
10 10.2

7.1




48 (
38.1 )
17 ( 13.5 )
16 (
12.7 )
8 ( 6.3 )
7 5.6

38
38.4
31
31.3
18 18.2
10
467
230  98.7
1
0.4 1

0.4

15

14




